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CroXXeHue n Bbl4UTaHne 4Yncen c Pa3HbIMA
3HaKaMN.




YemHbIuU cyem

) -3 -2 -10 -3 -17 -81 -12 -20
8 10 9 10 6 10 11 8 13
-7 -4 -3 5 6 -4 -10 2 -4
-10 -11 -13 -10 -10 -2 -7 -14 -10
HOPMbI OLIEHWBAHWA
33-36 OueHKa «5»
26-32 OueHKka «4»
18-25 OueHKa «3»
MeHee 18 OueHKa «2»




paboma e epynnax

¢ BbinonHuTte oencreus:
a)-7,5t4,2 6)-3,7-5,8 B)3,7-5,6
r-7/9+5/6  n)-21/8-15/16

¢ Hangute 3HayeHuMe BbipaXkeHud
(3,9-5,8)-(-1/45 — 7/9) +1,1

¢ PewnTte ypaBHeHUS:

a) 4,31-x=5,18; 0) y+11/21= -211/14
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FMTPOBEPKA
¢ a)-3,3;6)9,5;B)-1,9;r)1/18; n0)-37/16.
e 11,9 2)0,8 3)-1,1 4) 0O Otget: 0

¢« X=-0,87; y=-35/6

OLUEHMBAHME: BCE BEPHO «5»
nBe ownbkm «4»
bonbLie aByx oWwMBOK «3»
BCE HEBEPHO «2».
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O6ob6buweHue 3HaHUU

¢ -a+(-B) =




O6ob6buweHue 3HaHUU

¢ -a+(-B) =-(a+B)
¢ -atB=
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O6ob6buweHue 3HaHUU

¢ -a+(-B) =-(a+B)

¢ -at+B=-(a-B) ecnv a>B
-a+B = -(B-a) ecnu B>a
¢ -a-B=




O6ob6buweHue 3HaHUU

¢ -a+(-B) =-(a+B)

¢ -at+B=-(a-B) ecnv a>B
-a+B = -(B-a) ecnu B>a
¢ -a-B =-a+(-B)

o A(a) n B(b) IABI=
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o B




O6ob6buweHue 3HaHUU

¢ -a+(-B) =-(a+B)

¢ -at+B=-(a-B) ecnv a>B
-a+B = -(B-a) ecnu B>a

¢ -a-B =-a+(-B)

o A(a) n B(b) IABI=b-a

——
————
————
—_————

o B
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moe ypoka

+ Cnacunbo 3a pabory!




